
Day 9: 
Slope, 

Perpendicular 
vs. Parallel   



MATH



What is slope?







How do I calculate the slope of a line?

“RISE”

“RUN”



More 
examples:





Positive or Negative?



Negative Slope



Slope of Zero



Undefined Slope



What is the slope of a line that passes through (-1, 3) and (1,4)?

A. 0
B. -1/2 
C. 1/2 
D. 2/3 



The following points lie on A: (-2, -4), (0, 2), 
and (1, 5). What is the slope of line A?

A. 3
B. 9
C. 10
D. 12







A ramp was built to allow wheelchair access to a 
front door. The ramp rises 2 feet, as shown in the 
diagram below. 

32 ft.

2 ft.

What is the slope of the ramp?

A. 1/32
B. 1/18
C. 1/16
D. 1/8





Slope-intercept form
• The slope of a line can be used in combination with other 

information to find the formula of the line. The slope-intercept 
form can be used if the y-intercept is known: 

y = mx + b
m is the slope and b is the y-intercept
• If one point is known: 

y - y1 = m(x – x1)
m is the slope and (x1, y1) is the point



Equation of a Line

• To find the equation of a line, find the y-
intercept (where the line crosses the y-
axis). The line crosses the y-axis at -2.

• Next find the slope. The slope of this 
line is 1/2 

• Substitute the values of m and b into 
the equation. 
ØY = mx + b
ØY = 1/2x + (-2)
ØY = 1/2x - 2





Test-Taking Tip
•Note that the slopes of -1/2 and 1/-2 have 
the same value. Both show a negative slope. 

•However, -1/-2 actually shows a positive slope 
because a negative divided by a negative equals 
a positive. 



A linear function is represented by   
y = x – 2. What is the slope of the line?

A.-2
B. -1
C. 0
D.1





Identify which of the following equations are 
written in point-slope form.

A. 3x + 3y = 18
B. Y = 2x + 3
C. Y + 3 = 6
D. Y + 3 = 3(x – 4)



Note: Letter 
(B) is in 
point-slope 
form.

We can find 
the slope of 
equation (A) 
by graphing 
it, then 
calculating  
based on the 
two known 
points.



Perpendicular 
& Parallel 
What do these words mean?



Perpendicular

If two lines are perpendicular to each other, their slopes are negative reciprocals of each 
other. For example, if the slope of one line is 2, the slope of a perpendicular line is -1/2.



Parallel

If two lines are parallel to each other, they have the same slope.











Find the equation of the line passing through the point 
shown and perpendicular to the given line.



What is the slope of a line parallel to 
y = 4x + 3?

A. -3/4
B. -1/4
C. 3
D. 4



What is the slope of a line perpendicular to 
y = -3x + 2?

A. -3
B. -1/3
C. 1/3
D. 3





Homework!

Week 9


